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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

Animal husbandry is the branch of agriculture --—eeeeeeeee- -- with animals that are
raised for meat, fiber, milk, eggs, or other products.
1) handled 2) concerned 3) included 4) interfered

Named by Portuguese explorer Ferdinand Magellan, who believed it to be free of
---------- -- storms, the Pacific Ocean is not, in fact, so pacific.

1) violent 2) distant 3) temporary 4) pointless

Animal rights is not just a philosophy—it is a social movement that -----ceeeeeeem-
society’s traditional view that all nonhuman animals exist solely for human use.

1) asserts 2) magnifies 3) distinguishes 4) challenges

If people can raise enough fish on farms, it stands to —----ceeeeee --- that they will be
less inclined to hunt them from the sea.

1) logic 2) rationality 3) reason 4) attention

The programmer ------------ees an analogy between the human brain and the
computer,

1) drew 2) bore 3) took 4) put

The --—--—-==eeee-= of the editor’s comments made us think that he hadn’t really read
the manuscript.

1) intensity 2) ignorance 3) tolerance 4) superficiality

The two boys tried to sound ~—--—-----——--— at the police station, but they weren’t really
sorry that they had herded the sheep into Mr. Ingersoll’s house.

I) resistant 2) impatient 3) regretful 4) indifferent

Though he spoke for over an hour, the lecturer was completely --------=--——-— and the
students had no idea what he was talking about.

1) solitary 2) inarticulate 3) curious 4) effortless

For years no one could make this particular therapy work in animals larger than
rodents, but now two research groups have demonstrated its —---eeeeeeeee- in dogs.

1) efficacy 2) restriction 3) sympathy 4) vulnerability
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10- The African elephant has become the object of one of the biggest, broadest

international efforts yet —----eeeeeeee== to turn a threatened species off the road to
extinction.
1) intruded 2) explored 3) mounted 4) compensated

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Scientists first recognized the value of the practice more than 60 years ago, when
they found that rats (11) ==-==ceemmeeeen a low-calorie diet lived longer on average
than free-feeding rats and (12) =-=-eeememaeeeas incidence of conditions that become
increasingly common in old age. (13) ---=--eemmeeaee- . some of the treated animals
survived longer than the oldest-living animals in the control group, (14) -==-=eseeeue-
that the maximum life span (the oldest attainable age). (15) -=-==-==envcenmu- merely the
average life span. increased.

11- 1) were fed 2) which they fed 3) fed 4) feeding
12- 1) had a reduced 2) they reduced

3) were reduced 4) that it reduced
13- 1) Although 2) While 3) What is more 4) So that
14- 1) meant 2) which means 3) means 4) it means
15- 1)no 2) nor 3) neither 4) not

PART C: Reading Comprehension

Directions: Read the following text and answer the following five questions:

Data acquisition in photogrammetry is concerned with obtaining reliable information
about the properties of surfaces and objects. This is accomplished without physical
contact with the objects which is, in essence, the most obvious difference to surveying.
The remotely received information can be grouped into four categories:

geometric information involves the spatial position and the shape of objects. It is the
most important information source in photogrammetry.

physical information refers to properties of electromagnetic radiation, e.g., radiant
energy, wavelength, and polarization.

semantic information is related to the meaning of an image. It is usually obtained by
interpreting the recorded data.

temporal information is related to the change of an object in time, usually obtained
by comparing several images which were recorded at different times.

16- What is the best title for above passage?
1) Data Accomplishment 2) Data Acquisition
3) Photogrammetry Categories 4) Photogrammetry Information
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17-  Which one, not refers to properties of electromagnetic radiation?

1) Polarization 2) Radiant energy  3) Spatial position  4) Wavelength
18- The meaning of an image can be grouped into which category of information?

1) Temporal 2) Semantic 3) Physical 4) Geomeltric
19-  Which information is the most important source in photogrammetry?

1) Temporal 2) Semantic 3) Physical 4) Geometric
20- What is the main variable in temporal information?

1) Direction 2) Location 3) Position 4) Time

Part D: Cloze Test:
Directions: Read the following passage and decide which choice best fits five numbered space

in the text.

For metric cameras it is very important to keep the lens assembly fixed with respect to
the (21) -===-=eeeee-- . This is accomplished by the (22) -----=-ean--- . It consists of a metal
with low coefficient of thermal expansion so that the (23) -------eee- and the focal
plane do not change their relative position. The focal plane contains fiducial marks.
which define the fiducial (24) —====eemeeeeam- system that serves as a reference system for
metric photographs. The fiducial marks are either located at the (25) ------------- or in
the middle of the four sides.

21- 1) focal plane 2) flying height 3) image wide 4) normal angle
22- 1) cross wide 2) focal scale
3) inner cone 4) principal data
23- 1) diaphragm 2) filter 3) lens 4) shutter
24- 1) coordinate 2) camera 3) intermediate 4) scanning
25- 1) corners 2) length 3) margins 4) section

PART E:

Directions: In the following five questions, choose the best and correct answer.

26- What is the type of energy which can utilized for remote sensing?
1) Kinetic E. which propagates by conduction.
2) Kinetic E. which propagates by radiation.
3) Potential E. which propagates by convection.
4) Potential E. which propagates by distribution.
27-  For which fact, the data of geodetic survey are very important? Because they ------aeeeuv :
1) provide precise points of reference.
2) produce ratio images in disposition.
3) represent the ground exposure index.
4) categorize all pixels in an image.
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28- Statement below is a definition for which one?

"A photogrammetric method of coordinating points on the ground using a series of

overlapping photographs."

1) Aerial Triangulation 2) Earthly Triangulation

3) Geodetic coordination 4) Photogrammetric coordination
29- For which one, Collinearity equations are the basic mathematical model?

1) Image relief transformation 2) Image relief adjustment

3) Bundle block transformation 4) Bundle block adjustment

30- What is the necessary condition for an object to be measured by photogrammetric

technique?

1) The object dimensions being in a limited range.
2) The object distance being in a limited range.

3) The possibility of having the object in disposition.
4) The possibility of obtaining its image.
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